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=Year 11         =Trig. ratios & functions          =Worksheet 1
	1. Find the values of 
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	2. Find a, b and c.                                                                                          
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	3. Find a, b and c.                                                                                          
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	4. Refer to Q3 to find the exact value of 
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	5. Find the value of 
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	6. Given 
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 is acute, find the exact value of 
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	7. A ball of radius 1 unit rolls into a cone of vertex angle 60(. Find the shortest distance between the centre of the ball and the vertex.
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	8. Find the maximum possible value of (.
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	9. For 
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and CD is perpendicular to AB. Name two triangles that are similar to 
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	10. Refer to Q9. Given 
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	11. For 
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in terms of a and b, given 
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	Numerical, algebraic and worded answers.


1.  ( = 105, ( = 75, (  = 90


2.  a = 2(3, b = 2, c = (3


3.  b = 2, c = (3, d = 2


4.  2


5.  1


6.  4/5, 3/4


7.  2


8.  30


9.  (ACD, (CBD


10. 4 : 1


11. a / (2b), ((4b2(a2) / (2b)
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